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Set|d : 47071_78 11Aug18_Batch3 D ¢
Section 1 - Paperl-General Enaglish

1) Choose the right option to fill the blank:
In the class, everyone a smartphone.

have
) will has
D) have had

A) has
B)
C

2) Choose the right option to fill the blank:
The students were late, the teacher barred
them from the class.

A) against
B) for
C) so
D) because

3) Choose the correct answer:
The of ministers met yesterday.

A) consult
B) consul
C) council
D) counsel

4) Choose the right option to fill the blank:
The meeting will start 10am.

5) Choose the correct answer:
The officer listened to the applicants' pleas.

A) fake

B) unreasonable
C) superficial
D) genuine
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Section 2 - Paperl-Education and General Awareness

6) As of June 2018, who is the chairperson of National
Human Rights Commission?

A) Justice Pinaki Chandra Ghose
B) Ms Jyotika Kalra

C) Justice Shri D. Murugesan

D) Justice H. L. Dattu

8) g2 2018 ¢@l, @4 SI619 AIRQYAIQ AR 2 28T ?

A) 289 drie1 09 648
B) 91101 64Tl QIRQl
C) 984 §1&. (a0
D) 984 9.9, @f!

7) "In one point | fully agree with the gentlemen to whose
general views | am opposed. | feel with them that it is
impossible for us, with our limited means, to attempt to
educate the body of the people............ ", The statement
given here is part of which of the following options?

A) Macaulay's Minute -1835
B) Hunter Commission — 1882
C) Wood Despatch - 1854

D) Sargent commission-1944

7) "9geYRs 691G @2l Q86 ¢ a°gd Q6a A6 26S ARIFA

ARG GEERINIGYE] ¢ Feal @FEIN | SIe IEQ €] 29eQ K6a
69 @9d0eq 486 A8 dIR @RYN REUER 27 AIR A A6

42 26 QIR QAL ... |" 0I6R gOR 26 FIRYS 69E faada
21°8l 266 ?

A) dieem's G69-1835
B) 2¢q @fiag- 1882
C) 2§ 629419 - 1854
D) aoead @F4Q-1944

8) Open and Distance Learning refers to the method of
learning in which teachers and students

A) need to be present at the same place at the same time
B) need to be present at different places at the same time
C) do not need to be present at the same place at the
same time

D) need to be present at the same place at the different
time

8) 8 8 90 5030 JT 60 IV IS @ NI 6UNYER ISR G
daielries

A) AAIF AAAER ANIRAIGEE QORE TR 2INEYR §9

B) dflIG AANER ERLIFER RUTS AFQ 28R 29

C) QI AALEA AAIRAIRER A0 0Fal 2I98Ue §9QIF
D) 21Q¢lIe AFLEQ AFIRER A0TC Q2R 2GR §9 Q1T

9) Which of the following are the popular distance education
mass media programs of the Government?

A) Knowledge Ganga

B) Discovery Kids

C) Krishi Darshan

D) Gyan Vani and Gyan Darshan

9) FIRYS FIQ 6995 AaRIT RIRTC gRFesa FRIGE QA
QIdIge 26s ?

A) G6Rg oIe

B) ¢Q6aRQ &g

C) g8 @de

D) KI9QI41 8 KRS

10) Which of the following drugs is used to treat infections?

A) Analgesics
B) Aspartame
C) Antibiotics
D) Tranquilizers
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10) 2°ge8Q 572 Qlal FIRYE 690 ASUT YLLe §4 2

A) 2QR6ad]
B) QIaSIe|

C) 28Q16ae0g
D) QIgRIese

11) The main constituent of sand is:

Potassium

A)
B) Iron
C)
D) Oxygen

11) QIR 814 QAT 62QE"

12) NPTEL is an initiative by seven IITs and lI1Sc for creating
course contents in engineering and science.\What does
NPTEL stand for?

A) National Programme on Teaching Enriched Learning

B) National Programme on Technology Extended Leaming
C) National Programme on Training Employed Learning
D) National Programme on Technology Enhanced
Learning

12) 4a08aR ACHIT 2IRRIRE 9e° 2Ie2IeNad AR Q*FFase

6 GRIR6Q oY FARg 996 QGaNM | ¥edFadm @ Jal fId
Q6 ?

A) YIARIR 6919IF 2R To 1Re0R NE°

B) Q4IQQIR 60I91¢] 2R 65R6RIEMIG 1F6T6EQ mE°
C) NIARIR 691G 8] 68G° AR ad°

D) QYIRQFIR 69IgIF 2] 65RERIENIT IRTIQY AE°

13) As per the Indian Constitution, the President before
entering upon his office, shall take an oath in the presence
of:

A) Vice President of India

B) Attorney General of India

C) Chief Justice of India

D) Comptroller and Auditor General of india

13) QIGER AR 2QIN, AIFAE QKR 29 GRS g4I 1Dl
QUIGER 9192 AI0 @9E:

A) Q00 ALAULIG

B) RI06Q 254 6a6RalIn
C) QUaea QI FeI903
D) QIQeQ f12l 6nd Foae

14) The National Institute of Educational Planning and
Administration (NIEPA), established by the Ministry of
Human Resource Development, is a premier arganization
dealing with capacity building and research in planning and
management of education in India and

A) South Asian countries

B) Scandinavian countries
C) Commonwealth countries
D) BRIC nations

14) QI6Q AR SRIE ARIRY TIQI IOFS YA KRSQYS &
PERdaIm QIF° 9g 2efiGeade (NR2IaRTY) 628 9@ g9
ZQUe Q1D QES B8 FIRYS AN 696 AT dIQ
QAEAIRT| 8 AACIRRIER @FG| TRIF @ 6V [6a ?

A) QB4 916 AYATL
B) @ldentil Qieane
C) QIRY6TIN QAUATIL
D) §q Qigaqe
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Section 3 - Paperl-Reasoning

15) What is the next number in the given series? 17) 998 GFI6Q 29I LHITFRR TaREN I @€ 629 ?
?

529, 484, 441, “ 31,38,45,52,7?
A) 396
B) 400 A) 60
C) 421 B) 61
D) 389

) C) 59

D) 58

15) g8 §YI6Q QI A°HIGHRS IR THIT 98 629 ?
529, 484, 441, 7 18) What is the missing number in the given series?
402, 409, 423, 7,472

A) 396 A) 456
B) 400 B) 425

C) 429
&) el D) 444
D) 389

18) 9L8 GAEQ @ JQI ST @4 265 ?

; : : an
16) What is the next number in the given series” 402, 409, 423 7, 472

29, 261, 522, 4698, ?

A) 9193 A) 456
£ 0 i
D) 9396 C) 429

D) 444

16) R GII6Q 29I LIIFFRR TGRS °HIG Q¢ 689 ?
29, 261,522, 4698, ? ) . : -
19) First two words are related in a certain way. Similarly,
3rd and 4th are also related. Find the 4th word from the
9193 given alternatives.

ol Country : SriLanka :: State : ?
B) 9098
294

&) 924 A) Mumbai

D) 9396 B) Raipur
C) Coimbatore
D) Goa

17) What is the next number in the given series?

31, 38, 45,52, ?

A) 60

B) 61

C) 59

D) 58
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19) 929 Qa6 98 U@ A48 688 ATEG 26T 1 AGAA AES NA IQ°
¥el a1 AR 2GE | goR I8 AU 49 998 @ L9 |
6Q4 : PRI QURY: ?

A) AR

B) aiage
C) 6a1NAIga
D) &gl

20) If TURMERIC is coded as RUTEMCIR, then REVIEWER
can be coded as

A) VEREIRER
B) VEERIRWE
C) VREEIREW
D) VEREIREW

20) 9@ TURMERIC @ RUTEMCIR @169 6918 @2 Q9IRS
6069, 6062 REVIEWER @ @93 62IQ 98 @1de

A) VEREIRER
B) VEERIRWE
C) VREEIREW
D) VEREIREW
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Section 4 - Paperl-Teaching Aptitude

21) The Secondary Education Commission of 1952-1953 is
also called

A) Program of Action

B) Kothari Commission

C) Mudaliar Commission

D) National Knowledge Commission

21) R ¢89-2 0 8NQ ARIFR FBI 26T 2R [ QRIAN ?

A) RIIQLS RITIGH
B) 6910101 2sAS!
C) aIRLIQ s
D) RIe1A RIF 26T

22) The problem of truancy can be tackled best in which of
the following ways?

A) punishing the child

B) ignoring the child altogether

C) giving some incentive in the form of reinforcement
D) cutting marks in tests

22) Qql QNP6 YRR TRIGR NG FIRYS 699 AIER
Qs Q6d AR 629 ?

A) Fygig @26 Qa9

B) dmicq 2°gd QI6e ACEas @aal

C) 98 sTraia 2189l OIR &8 691QI2R 699
D) JQIGIER @6 QTS

23) Which one of the following statements is correct?

A) Interview should be banned for selection process
because most of the interviewers are biased

B) Interview should not be banned for selection process
because interviewers can earn money

C) Interview should not be banned for selection process
because interviewers must have the facility to select their
own relatives

D) Interview should not be banned for selection process
because many other techniques are available now for
selection

23) FIRGYE 696 SRNE OF ?

A) 998 9T TIR 6222 ALeQY AER 6291 AFQ FI0d ALY
6RQYQI 2@ S Q1B JRYIG @FellE

B) o0 g3l UIR 62089 R40gl A8 6291 A5Q Q6L QIR
QLR 6908Q1 4B 28 6RIFEIQ Fgas

C) 099 gaal 9 62089 A909Y G8® 62]1 8] 96€ IR
Q90N 6992 MBG 6AAIRTR GF AATANITT SO8 GEQ!
QR QERI 20X

D) 00¢ 939 OIn 62029 A4 S8F 6271 A5Q §6€ @IRd
QEFIF 00 TR AR QIS O

24) Patanjali gave the concept of yoga which has eight
aspects, it is called

A) Modern Yoga
B) Kriya Yoga
C) Ashtang Yoga
D) Hath Yoga

24) 9GER1 9@ 6I9Q ARIGEI JLIP @EgeR LRI 20T
QTR QEE, FIaIg K¢ gITN ?

A) 2GS 6QId
B) &gl 658l
C) 2%t 619
D) 20 6gigl

25) According to which article of the constitution is it a
fundamental duty of individuals to defend the country and
render national service when required?

A) Article 51 (d)
B) Article 52 ( c)
C) Article 51 (¢)
D) Article 52 ( d)
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25) ARXISR 606 1A AQLIC] 2IQGIS0! AFAER 6968 Al I
QLI 69]1 gOIF @691 960YR QUEEE 6A1R0 9a9Y 215 ?

A) ISl ¢
B) QI 89
C) diaIge
D) QI 89

—_

)
)
Q)
@)

—_

Las

26) The way students form their groups in a class is called

A) group mechanism
B) group dynamics

C) class arrangement
D) class atmosphere

26) FIgRIGKISH 6961160 a6 U@ 63191 2R KRR AAIAG R4
QI ?

A) 69191 Q494
B) 6591 9@461RG!
C) 6§41 244l
D) 68411 AR6R4!

27) The question answer method of discussion and teaching
was propounded by

A) Freud

B) Spencer
C) Socrates
D) Aristotle

27) g49-969 ZIERISR 8 IR A8TQ &4 Q121 K526 ?

A) 6969

B) 6994Q
C) QAw655q
D) 2IG6RIeR

28) When a teacher scolds a student for a mistake that he
has committed, it may ba called as

A) negative reinforcement
B) positive reinforcement
C) good gesture

D) creativity

28) 64606967 @R QIR FUElg I8R GIF F2F, NLIq 98 GRIAN
?

A) @RS GG
B) Q4RI 990!
C) aa¢ 63a1
D) 9eRIIRs!

29) Skinner conducted his experiments on the following
animals

A) Parrots and pigeons
B) Pigeons and rats

C) Rats only

D) Pigeons cnly

29) 00 OIF INBIYER FUNGS 699 Ug AUCA FREER ?

A) 4216 Qi
B) dial 6 9@l
C) 6299 8l
D) caem alal

30) The major barrier in Mid Day Meal scheme is

A) lack of accountability
B) Lack of publicity

C) Lack of nutrition

D) Lack of funds

30) FIIE 6RIRRER IO Eeee 6208

A) QRO JRQ
B) 99IeQ U9

C) 601896 2AIQ
D) 94a 2RIe
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Section 5 - Paperll-Odia Language

31) 92, @01, 84, PER 226Q 6QE RAAT QIO CRIQAN ?

@®
Q

I
o

B

@]
()

)
)
) €@
)6

o
o]

32) R0 821Q Q1€ 2IEQAI — 1 AP6R QU AT AAIRIP QAR ?

) 216
) =Yala]
) R91Q
) 514

-

B

g @

33) ‘BKIY €00 FAQ10 62 6Rul

A) 2Q1aY
g) QR
c) QEau
D) augy

34) CRW Q0 YD 6V6R ‘@7, ‘@’ IR
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36) 79967 60 JAQS AL 6R |

A) @U¢

B) #eac
c) 49UC
D) Q9E1

37, 260%R QCQ G019 G Q2 YAQ 6RE Y7 QRN ?

A 2924
g) A2
) YAl
)

5
D) Q6aE

35) 909€Q QAPeREQ QUQ @’6 QRIAN ?

B) @k
C) el
D) ael

- ‘e Qe AQFr affa a2 @’a?

A) Cla8 APGEQI

p) 99 Q&R
) Q¢ Jae agal

53 Qg °F ARIAQ QI

- ‘291Q 2QTAIEA ARIRQI’ 22 ALK QFE @’a?

A) amdlial

B) 20RI06Q A

A0 P
29%)@ A

C)
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‘ ’ B
41) €AY 6QU ARINR 0@ ?

A 299
B) 29QIR

C) ofe
D) 8¢

2 ‘ GQIF caIQad I’ - cauISe aefa Sal fda eal

QAR
Q10N

AQ6Q

A)
B)
C)

QAR
D)

43) ‘QQIRE’ 600 FAQ1S AACARIQ AL CQW|

A) QRIR
B) ageed
c) aacd
D) *10Q

44)

A) Q@
B) Rkl
c) SEsaql
D) PR

45) SQEE J6uB F6aEA ?

p) €98 dal
B) QIfl AOUQIR1
c) Sl

D) 6Q¥ a9®

RIFQ FV1EQ 6F IR QIFERA — YOKA YIPRISAE QR A @4 ?
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Section 6 - Paperll-Mathematics

46) Two consecutive angles A and B of a parallelogram
ABCD are in the ratio 3:2. What are those angles?

A) 120° and 80°
B) 110°and 70°
C) 100° and 80°
D) 108° and 72°

46) 4% AFRAR 685 ABCD @ 9R §6% 6116 A 9e° B 219910 3:2
6Q Q28 | 69T 6RIEGGR @60 ?

A) 120°9e° 80°
B) 110°4e® 70°
C) 100° 9&° 80°
D) 108°9@° 72°

47) Multiply Ya + Vb by VY(ab). The result is

A) ava+b
B) avb + bva
C)a+b

D) a+bvb

47)va +b g V(ab) 989 @6R IR 662 629

A) ava+b
B) avb + bva
C)a+b

D) a+bvb

48) For any two sets A and B, (A-B)U(B-A) is

A) (AUB) - (ANB)
B) (B-A)UB
C) (AUB)N(ANB)
D) (A-B)UA

48) 64 69163 99F 6aQ A 98° B QIql, (A-B)U(B-A) 6208

A) (AUB) - (ANB)
B) (B-A)UB
C) (AUB)N(ANB)
D) (A-B)UA

49) Four added to three times a number gives 28, the
number is

A

o0Om
© o 0~

)
)
)
)

49) 6915 AHIER FFeR O1R FSIRER V121 28 99, 656Q A°HMIF
6Q60 ?

A) 7
B) 8
C) 6
D) 9

50) The two numbers, which are in the ratio 5:3 whose
difference is 34 are

A) 85 and 51
B) 80 and 49
C) 70 and 42
D) 80 and 51

50) G5 QeI 5:3 A1gUIP6R AT AILIA 2R 34 696@

A) 85e° 51
B) 80 1g° 49
C) 704e° 42
D) 80e° 51
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51) A man makes a profit of 10% by selling a radio for
Rs. 495. What is the cost price of the radio?

A) 400
B) 405
C) 455
D) 450

51) @64 Q48 695N 60@67 495 o@Iea @@ 10% MW ARG |
606Q 69FBQ @Il Y 6960 ?

A) 400
B) 405
C) 455
D) 450

52) The product of two numbers is 30375. If HCF of the two
numbers is 45, then the LCM of the two numbers is

A) 90
B) 375
C) 675
D) 185

52) Q96 Q¢YIQ gEITre 62@8 30375. 96 QuS IR 61.41.9 45,
6069 905 QFIQ M.Q1.Y. 6968

A) 90
B) 375
C) 675
D) 185

53) If two positive integers M, N expressed as M = p%g? and
N = p%q, then their HCF is

A) p*q
B) p’q
C) p%g?
D) pq

53) 9@ Qa6 YVIIR LAY M, N @ M = p2g?2e° N = p’q QI6Q
K FAULIGE 6069 SIS 621G 676E

A) p¥q
B) pq
C) p’q?
D) pq

54) A bottle with 2 litres of capacity is half filled with syrup in
which sugar and water are mixed in the ratio 2:3. If the
emptied part of the bottle is filled up by water, then what is
the new ratio of sugar and water in the bottle now?

A) 37
B) 34
C) 3:2
D) 1:4

54) 2 GoQ A6l F88 W@ 69I6Rg dauea 2l 94 FAKIE,
699260 6F 6 98q 2:3 2qUIe6R FHIQIRE | AT 6210Ra HIRGS!
2Ieg 918 9ISl g4 FAIAN, 6369 Q61 6QER6a 77 6 AIdia 2l
Qe 6a60 ?

A) 37
B) 34
o3 0
D) 14

55) For ' denotes the complement of a set, the set {x: xe A
and x e B} is

A) ANB
B) A'UB
C) ANB
D) AUB'

55) 6615:9 699 Q2GR ' RERY A6Q, 696@ 69K {x : x € Aand
x € B} 6208

A) ANB
B) A'UB
C) ANB
D) AUB'
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56) PQ is a tangent at the point P on a circle with centre O.
If triangle OPQ is an isosceles triangle, then angle OQP is
equal to

56) PQ 6268 6a5 O 891 98 9U6a P JR6a 9w ad6adl 1 98
Gee OPQ 6208 9@ QU591 899, 6062 OQP 6@ld @12l AEe
QAR 629

57) A tangent PQ at a point P of a circle of radius 5 cm,
meets a line through its centre O at the point Q. If OQ =13
cm. What is the length of PQ?

57) PQ Qd6adil 5 6261 QA 288 9@ P 9569, 1218 69 O
690 UINIRI IR 609lIg Q Ggea fgR 1 98 OQ = 13 628, 6069
PQ 6644 6060 ?

58) A music system is purchased for Rs. 8000 and sold at
Rs. 9500. What is the profit percentage?

A) 18%
B) 18.75%
C) 18.7%
D) 19%

58) 65N QIeYaag 8000 6168 9¢ @G 9500 G@IER Sga
FRAAR | 9LY6R NN YFHG 6060 629 7

A) 18%
B) 18.75%
C) 18.7%
D) 19%

59) If one root of the equation 2x+ kx - 6 = 0 is 2, then the
value ofk is

]
-

Rl Al st
Fl -
o nom
oN =

o0Ow>

59) 94 253+ kx - 6 = 0 AANRQER 691G~ 7R 6268 2, 6969 k @
Ry 6962

D) 4v5

60) V80 =

A) 2410
B) 245
C) 4¥10
D) 4v5
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Section 7 - Paperll-Social Science

61) What is the other name of Earth?

A) Red Planet
B) Blue Planet
C) Green Planet
D) White Planet

61) 921Q AR Xl ?

A) ERIEQ g2
B) Q19 g9

C) 999 g2
D) deR g2

62) Who among the following wrote the national song "Vande
Matram'?

A) Bankim Chandra Chatterji

) Swami Dayanand Saraswati
) Subhash Chandra Bose

)

B
C
D) Aurobindo Ghosh

62) G698 F1AQ @4 "QER FISAL" UL TS EMIHIEM ?

A) QF¢ 09 Gl
B) Q61 Qg Aa90
C) guI¥ 9F 6919

D) 20@0 6218

63) Which of the following types of clouds are commonly
known as 'mare’s tails' because they are shaped like the tail
of a horse?

) Cirrus clouds

) Cumulonimbus clouds
) Cirrocumulus clouds

)

A
B
c
D) Altocumulus clouds

63) FIAYC 62Q NG ARIAISE ‘AT NG’ AUER FEIGE,
RS 6AYLER 6AIPIRQ PG ARING CTHIN ?

A) AI999 QIR

B) QF6AIFYY Qo

C) ARERIFIRY QIaR
)

D) ZREFIQIRE QIaR

64) Who among the following was appointed as the
Constitutional Advisor to the Constituent Assembly?

A) B. N.Rau

) D. P. Khaitan

) N. Madhava Rao
) K- M. Munshi

64) QARG deIq FORGeE AUQ A ARG QU WIEe &
dIRgem ?

A) S47.QR

B) ¢.dda@q
C) 8. FRIS QU8
D) 6@.9¢.€]eQ!

65) The volcanoes and earthquakes both result from the
movement of

A) plate tectonics

) plate expansion
) plate contraction
)

B
Cc
D) plate dynamics

65) Q0 2ICTATR 8 QAN QI ACRIFER TRIQA 6TIQEIN ?

A) g92a {eeq
B) g2a Q2iadl
C) gea a°geq
D) g2a 95d1eal
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66) What percentage of water on earth is saline in nature?

A) 97%
B) 50%
C) 75%
D) 3%

66) 9996Q J2R1R 6960 U0¥IC QIS 9 NGB 266 ?

A) 97%
B) 50%
C) 75%
D) 3%

67) Which among the following varnas was NOT permitted
to perform the upanayana and study Vedas?

A) Brahmans
B) Vaishyas
C) Shudras
D) Kshatriyas

67) 76919 6% Y 6AICH AURAR 1&° 6910 IR AT TR
@ 26m ?

A) Q24
B) &G4

C) 99
D) 98

68) Which among the following Stupas is situated in Madhya
Pradesh?

A) Amaravati Stupa

B) Bharhut Stupa

C) Nagarjunakonda Stupa
D) Kesaria Stupa

68) K6 AR 699 AT AUYEREER 2SS ?

A) 209199194

B) Quge ga

C) QIBIgR 6aI9I ga
D) 6=Qdal ga

69) A longitude variation of 1 degree causes a time
difference of:

A) 10 minutes
B) 8 minutes
C) 6 minutes
D) 4 minutes

69) QIFFIR 1 391 FeRS 641 ANAEA 6960 TR TARYE T4 ?

A) 10 66q
B) 8 {ige
C) 6 ¢&g
D) 4 {8

70) Which of the following values is treated as the Standard
Meridian in India?

A) 55.5 degree W
B) 72 degree E
C) 82.5degree E
D) 68 degree W

70) QeqIR gy Ales FaIQ 6996 VNGR A QI 6QIR G
ag?

A) 55.5 &gl adlel
B) 72 @g19%
C) 825&g199
D) 68 &g a&ia

71) Which of the following statements is CORRECT about
Rajya Sabha?

A) It can pass no confidence motion against the
government

B) It can introduce a money bill and pass it within 14 days
C) It's members are directly elected by citizens

D) It is a permanent body of the Parliament
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71) QIRYEIR AHGEQ 6512 6995 A0K 9B ?

A) N2l AIRINT SQEES ARG 9IS G216 @RISR

B) 42l 9« gJgl- PR QULINR SEIER e 14 &6 aa6el
QL1 KGIER

C) 92IQ A2 FIER 39 ARINEF 1ol Tl Y AIITe 9218
D) 98l °99a 99 I 999

72) Gauhati High Court was a High Court for how many
states of India until 2012?

A) 7 States
B) 3 States
C) 2 States
D) 5 States

72) 2012 91321 94 661Q1F AP IR 6R6RIT AUMG RUIAIRE
gl ?

A) 7 IRy
B) 3 QI
C) 2 QIey
D) 5 QIgy

73) Which of the following books maintained by IUCN is a
type of a public document that lists all endangered and rare
species of the world?

A) Biodiversity Data Book

B) Endangered Species List

C) Endangered Biodiversity Data
D) Red Data Book

73) 21 g 4 99 P10l 97 ARIGE TR F69G0 6219891 985 6a6E
, 191 @ G99 9B 98 QFn 9918 ANEE 1R Q2IRE 26T ?

A) 65e GGG oo @F

B) QY9 eI6a Snal

C) Sqg 919 659 QQuQ! G2y
D) 66 Q2N Q@

WtsApp/Call- 8596976190

74) Who was the Chairman of the Constituent Assembly?

) Dr. Rajendra Prasad
) K. M. Munshi

) Dr. B. R. Ambedkar
) Jawaharlal Nehru

74) @4 GRS AR ARIY ZER ?

A) 8.0689 91

B) 6@.96.90Q

C) @.2.2I1Q. ZE7eaa
D) @QI2Ian 65629

75) Mohandas Karamchand Gandhi launched the 'Quit India'
movement at the All-India Congress Committee session held
in:

A) Ahmedabad
B) Bombay
C) Delhi

D) Madras

75) 67189 Q1A 99F SR JIR1 ARG BIP LIRS ATV
@699 @FC 2RIERIT A9EG 6208 AINER 2INR QREER , 99°
Q121 gl ?

A) LAQQIQ
B) @69

C) a1

D) Qugig
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SEClon & - raperi-ocience

76) Which of the following statements is TRUE for animal
cells?

A) chloroplast is the source of formation of secretory
granules

B) mitochondria is the source of formation of secretory
granules

C) ribosomes is the source of formation of secretory
granules

D) golgi complex is the source of formation of secretory
granules

76) QI8 6919/ 6RITR| AAFEQ FETIB 6996 QB 26T ?

A) 626G FEIRI ARG F0RQ A 2163
B) CIR6GI6RIE0 @4al Y9Q F0R6 @2 26T
C) Q6QI6QI7, FEIFRAERQ F0RA Q2 26T

D) "ol @6819" , 26K 908 J0RQ A2 2169

77) Hasenclever process is used in the manufacture of

A) bleaching powder
B) ammonia

C) baking soda

D) gypsum

77) 2169R 69699 929 QI2l 2YIQR AIS QLS §I /21 62 :

A) §6° dIReQ
B) @sqiael
C) 69@ar 6213
D) @99

78) Which of the following organism causes disease
acquired immunodeficiency syndrome?

A) fungi
B) parasite
C) virus
D) bacteria

78) 564119 FUQ 694 2GS IR Q 6QIS FQUR &I ?

A) @6@

B) Qe91e!
C) goig
D) Q1814

79) A car is moving with initial velocity of 10 m/sec with
acceleration of 8 m/sec? How much distance it would cover
in 40 seconds?

A) 6400 m
) 4000 m
)
)

79) 641G @19 8 m/sec? @ Q9 4@¢ 10 m/sec YRHQ
JR6TTER 0I5 FQE 140 6A6RVER YL 6760 GG ATFE @8 ?

A) 6400 m
B) 4000 m
C) 3200 m
D) 6800 m

80) Which of the following statements is CORRECT about
lysosomes?

A) It contains photosynthetic pigments
It contains strong digestive enzymes
It helps in protein synthesis

It is known as powerhouse of the cell

— e

B
C
D

80) MIRCAICKIE) A°AR6R FELIB AR 674 T A0 26 ?

A) g6Q T601d6a0R da6nd 0E8
B) 126 @Y QI9R ISRIRT] LR

C) 69157 d°68.386Q 9l AL 96Q
D) 92l 621819 480 Q2 Qe JFTS



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

T B et

81) A bacteria that is capable of withstanding extreme
environmental conditions indicates, that it possess

A) endospores
B) extra buds
C) exotoxin
D) endotoxin

81) @ UIER[I KITI 9L IREF IREE] RSN FE9Ig AV,
21 BN 6Q 926R 98

A) 6816919
B) 2502 adal
C) 169195]
D) 96€I0EQ

82) What will be the CORRECT order, when solid, liquid
and gas are arranged in decreasing (high to low) order of
intermolecular space, between their molecules?

A) gas, liquid, solid
B) gas, solid, liquid
C) solid, liquid, gas
D) liquid, solid, gas

82) 21282146 99R ARG F16Q 208, FaR 6 AU 2Tk (A9Q
39 9r6a 02eIR 6096 0K G 629 ?

A) GNIQ, 09R, @08
B) ouig, @09, oow
C) @09, 9aR, auIg
D) @ef, @08, ayiq

83) Which of the following statements is TRUE about
themal energy?

1) thermal energy of any substance is directly proportional
to its temperature

2) thermal energy of any substance is inversely
proportional to its temperature

A) both option 1 and 2
B) option 2 only

C) neither option 1 and 2
D) option 1 only

83) F69I8 6945 QI 83 T806Q A0 FBM 266 ?
1)6@16d 9gQ Q1D 913 , CIIR FIIAIGI AL AAIFAITR 26T

2)6716d 99 Q1D 98 , QITIQ QIAFIGI AL FEMIA LA AT

A) QL Geg 19e° 2

B) 629 @aF 2

C) 1@ 26043 Gag 9@
)

D) 629 a9l

84) Which of the following is a female reproductive part of a
flower?

A) Androecium

)
) Gynoecium
)
)

84) 5¢] Q9IS FUQ TAQ IFNR G 604G ?

85) Which of the following is CORRECT with respect to
racemose type of inflorescence?

A) the main axis stops growing, the flower are borne
laterally in an basipetal order

B) the main axis stops growing, the flower are bome
laterally in an acropetal succession

C) the main axis continues to grow, the flower are borne
laterally in an basipetal order

D) the main axis continues to grow, the flower are bome
laterally in an acropetal succession

85) &6l RGO F12IQ 6R6AETIQ (G8) 6319 BF 6L6R6AR, (T
A%)3260 Ox @ 263 ?

A) 84 29 Q6@ A1, IRYER SIZIR AIFER / 97 AR 62R
QEd

B) ¢J&Y 21 Q6@ QI , TAYER GIZIR TR 0F 629 93

C) g9y 28 9F Q6 , IAYER SITIR AIYER / 97 TR 629
e

D) a4 28 Q@ Q6 , INYER GITIR AIFER / RAQR OF 62R
QQE
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86) A street side lamp post consumes 2200J of electricity
energy in 15s. Calculate its power?

A) 2253 W
B) 110.5 W
C) 1466 W
D) 250 W

86) Q19 7% IR 901 YL 93 15s 62 2200J Qe 93 % Q6R |
4@ §8Q R0 9 |

A) 2253 W
B) 1105W

C) 1466 W
D) 250 W

87) Calculate the momentum of a toy car weighing 0.4 kg
and moving with a velocity of 2 m/s?

A) 0.8 kgm/s
B) 0.2 kg m/s
C) 1kgm/s

D) 0.3kgm/s

87) 2 m/s dE6Q06a IRl 0.4 Al 359 YR UG @19 @
A°6Q6 6Q@6L 689 ?

A) 0.8kg m/s
B) 0.2 kg m/s
C) 1kgm/s

D) 0.3 kg m/s

88) COD is a measurement of the oxygen required to
oxidize soluble and particulate organic matter in water.
What does COD stands for?

A) Chemical Oxygen Demand

B) Cholesterol Oxygen Demand
C) Chlorine Oxygen Demand

D) Concentrated Oxygen Demand

WtsApp/Call- 8596976190

88) COD 6208 @76a fg6Ieia AFFIeaad 8 653 aqdg
Q491 @GR! UIR AINNR ZASIFQ QI | 6969 COD 666 dIgl
emsiQIRelg ?

A) 6afiRIn AF6aR P14

B) 626m6gn A6 618
C) 6910 ageaq Galg

D) 2069966697 AF6RR B4

89) Why does AgCN forms isocyanides.as the chief
product?

A) Itis ionic in nature and its nitrogen is free to donate
electron pair

B) It is covalent in nature and its nitrogen is free to accept
electron pair

C) Itis covalent in nature and its nitrogen is free to donate
electron pair

D) It is ionic in nature and its nitrogen is free to accept
electron pair

89) 1G3NQ AER 2IRCAARLIRG § A8 AYIQ Q6T TR A6Q 2

A) N2 21961 g6 FFF 9 DR O] AIF, JIR AEREFI] AR
@69 AR 9 263

B) 2l 92-26AIFR ¢ @98 I9° ILIA 8] AIF, JOF REREII]
924 @59l AR 78 26T

C) 42 42-2°6ATR g¢ 9% 9e° Y2IQ 8] 4IF , JOP AEACRIR
Q19 FR%I AIR ¢S 26T

D) 92l 2Iae g8 Aa% ¥&° 1210 @] LI, JOF REREIIR Fd
@6 UIR 2 26e

90) Which of the following is an example of physical
property?

A) heat of combustion
B) density

C) toxicity

D) flammability

90) §6)I9 FRIQ 6REE 6L1ER AR IR ARITAE ?

A) LREYGA FEC QR
B) agel

C) GaI9el

D) Q2adIae!
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Question Paper No: 47071 _78

Answer Key
1. A 31. A 6l1. B
2. C 32. C 62. A
3 ©& 33.¢ 63:. A
4. A 34.D 64. A
5. D 35. D 65 A
6. D 36. D 66. A
- A 3L.B 6l. ¢
8. C 38. C 68. B
9. D 39.D 6%9. D
10. C 40. C 70. C
11. A 41. A 71. D
12. D 42. A 72. A
13. C 43. B 73. D
14. A 4. D 74. A
15.B 45. B 75. B
16. D 46. D 76. D
17. ¢ 47. B 77. A
18. D 48. A 78. C
19. D 49. B 79. D
20 p 50. A 80. B
21. c 51.p 81. A
22. C 92. € 81 A
23. A 53. A 83. D
24. C 54.D 84. B
25. A 55. A 854D
26. B 56. A 86. C
27. ¢ 57. YT
28 A 5899 883 A
27998 59. AN, C
30. D 60. D 90. B
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